
 

8460 8300 

SUZUKI GSX-R 1000 
2007–2008 
Part Nr. 664 

 

8181651 

873 

872 

819M6R 

 MAIN PLATE  662R+L 
 

 

M6 x 25 DIN7991 

M6 x 12 DIN7991 

Between 8300 and 872 
123220508 

M6 x 35 DIN7380 
+ 123120906 

+ 816L + M6 DIN985 

M8 x 50 DIN6921 
+ 807 

M8 x 50 DIN6921 
+ 807 

M6 x 35 DIN7380 
+ 817 + 123121406 

+ M6 DIN934 

+ LOCTITE ! 
 

813RM 

813LB 

M8 x 30 DIN7991 

+ 123201008 

 BD11 810R + 

M6 x 25 DIN7991 

 

M6 x 20 DIN7380 

+ 2x M6 DIN125 

+ M6 DIN985 
 


